Third Hand Vs No Trump Contracts (conclusion)

The Count Signal:

This signal has a great similarity to the signal we have previously discussed, namely signaling when dummy wins the first trick with a card lower than the King. It comes up time and time again when dummy has a long suit. 






North

           ♠ K Q J T 4



West





East


           ♠ 7 3 2




           ♠ A 9 8






South





           ♠   6 5

South leads a spade toward dummy and WEST must give East a distributional count, so that he will know when to take his Ace in order to shut South out of the dummy. When giving the distributional count signal (almost always given by the defender who is weaker in dummy’s long suit), play low-high with a doubleton, lowest from 2 or 4, and highest (or highest you can afford) from 3. In the example above, West plays the 7, and East holds up and takes the 2nd spade trick.
North

           ♠ Q J T 9



West





East


           ♠ 8 7 6 4




           ♠ A 3 2






South





           ♠   K 5
South leads the ♠ K and West plays the 4 (lowest from 4). East recognizes that the 4 is from either two or four, and realizes if it is from two, then South cannot be prevented from using dummy’s spades. Therefore East holds up and takes the SECOND spade trick.

North

           ♠ 7 4

           ♥ Q 3 2

           ♦ 6 5 

           ♣ A Q J 8 4 2



West





East


           ♠ J T 9 6




           ♠ Q 8 5

           ♥ T 8




           ♥ K 9 7 6 4


           ♦ J 9 8 7




           ♦ Q T 2


           ♣ 9 7 3




           ♣ K 6






South





           ♠ A K 3 2




           ♥ A J 5








           ♦ A K 4 3







           ♣ T 5




West leads ♠ J, East signals an equal honor with the ♠ 5 and declarer wins the ♠ K (note not the ♠ A!) At trick two, declarer plays the ♣ T and West gives count playing the nine. Dummy plays low and East hopes that West has three (not a singleton), and calmly ducks the trick in tempo. (East knows the spade suit cannot be run because the lead of the Jack denies a higher honor, remember?) Declarer repeats the club finesse; East wins, and returns the ♠ Q. With subsequent best defense, declarer can not make 3NT, but try to beat this hand if East wins the first club!
What if South wins the 2nd club with the ACE, and you never get your King? First of all, if declarer does that, you are probably playing in the wrong game – it’s too tough. Second, it doesn’t matter! As you can see, the only hope for the defense is ducking the trick. Your job is to beat contracts that can be beaten, and make it tough for declarer when the contract is unbreakable. Taking the ♣ K on the first round makes life easy for declarer, and we’ll have none of that!

Briefly, the count signal is given in three common situations when defending against No Trump:

1:  When partner leads an ACE and 3rd hand has no honor (J or higher) to unblock.

2:  When partner leads a card and dummy wins the trick with the Queen or a lower card.

3:  When declarer leads up to a long suit in dummy, or conceivably, when declarer is trying to establish a long suit in his own hand. 
Lesson Hands
I.






North

       
   

♠ Q J 9

           


♥ K 7 2

           


♦ 9 8 7 

           


♣ A 9 7 6





West





East


           


♠ K T 6 5 4



           ♠ 8 3 2


           


♥ T 9 8 5



           ♥ Q 4 3


           


♦ A Q 




           ♦ 6 5 4 2


           


♣ 5 3




           ♣ Q J T








South





           


♠ A 7





           


♥ A J 6








           


♦ K J T 3

 




           


♣ K 8 4 2

Opening lead: ♠ 5

II. 






North

       
   

♠ K 5

           


♥ 8 3

           


♦ 6 3

           


♣ K Q J T 9 8 7





West





East


           


♠ Q J 9 6 4



           ♠ 3 2


           


♥ A K J 9 4



           ♥ 6 5 2


           


♦ T 8 




           ♦ A Q 9 7 2


           


♣ 2




           ♣ 6 5 4








South





           


♠ A T 8 7





           


♥ Q T 7


West
North
East
South




           


♦ K J 5 4

 1S
  3C*
  P
 3NT





           


♣ A 3


  All Pass

Opening lead: ♥ A








* Weak jump overcall

III. 






North

       
   

♠ K 7 4

           


♥ 8 3 2

           


♦ 4 3 2

           


♣ Q J T 3





West





East


           


♠ 3



           
           ♠ A T 9 6 5 2


           


♥ J T 9 7



                         ♥ 6 4


           


♦ J 9 8 7 



           ♦ Q T


           


♣ 9 8 4 2



           ♣ A 7 6








South





           


♠ Q J 8





           


♥ A K Q 5

South
West
North
East





           


♦ A K 6 5

 2NT
  P
  3NT
All Pass




           


♣ K 5


  

Opening lead: ♥ J

IV. 






North

       
   

♠ A 2

           


♥ A K 2

           


♦ K Q J T 6 4

           


♣ Q 4





West





East


           


♠ J T 9 6 5


           
           ♠ 8 4 3


           


♥ 9 8



                         ♥ J 6 5 4 3


           


♦ 9 2
 



           ♦ A 7


           


♣ K J 9 5



           ♣ A 8 3








South





           


♠ K Q 7





           


♥ Q T 7






           


♦ 8 5 3







           


♣ T 7 6 2
 

Opening lead: ♠ J

------------------------------------------------------------------------------------------------------------------------------------------------------------------
Key Plays
I.

When dummy wins the first trick with the ♠ J, East plays the ♠8 to show count.  When West wins the ♦Q at trick two, he can safely continue with a low spade, knowing South’s Ace will fall. Eventually he gets on lead with the ♦A to defeat the contract one trick. Note that as long as West knows that East has 3 spades, the location of the ♦A is immaterial. If East had it, the contract will still fail since West kept communication with East.
II.

When East plays the ♥ 6 at trick one, he denies the queen and shows an odd number of hearts (the count signal). West must assume declarer has the ♣ A, otherwise East will always get in to lead a heart. Thus, he shifts to a Diamond. The 3NT bid has almost surely located the Spade Ace and there is too great a chance that declarer has nine black winners with a spade shift. East wins the ♦A and returns a heart to defeat the contract two tricks.

III.

South wins the first heart and plays the ♣K. West plays the 2 (lowest to show four), and East wins the second club, cutting south off from dummy’s suit. Later, East manages his spades so that South cannot use the ♠K for an entry, and the hand is defeated one trick.
IV.

Dummy wins the ♠A and plays the ♦K to East’s ♦A. East can count declarer for three spades, (Jack denies a higher honor), five diamonds, at least two hearts, for 10 tricks. Obviously, East must shift to a club, and it needs to be a low one. West wins the ♣K, returns a low club to East’s ♣A, and the subsequent club return from East sinks the contract. Note that leading ♣A and continuing clubs is insufficient, as West will be required to win the ♣K, and declarer’s ♣10 will end up as a positional winner. Of further interest, if you switch the ♣8 and ♣9 in the defender’s hands, it becomes necessary for East to switch to the ♣9 at trick two. This is an advanced unblocking maneuver, necessary at times to allow West to win a later trick cheaply, without having to overtake the blocking card later – setting up a winner for declarer. Note the result when East returns the ♣3 from ♣ A 9 3: West will win the ♣K and return the ♣5 to your Ace. Now you are on lead with the ♣9 in this position:







♣ --




♣ J 8



♣9







♣ T 7

East-West can not untangle their tricks. However, if a far-thinking East plays the blocking ♣9 the first time around, the final position is: 






♣ --





♣ J 8



♣3







♣ T 7

and the defenders are rightly rewarded with a well deserved plus score. Expert defenders must not only work out the minimum holdings needed by partner to defeat a contract, but most also look ahead for possible hidden roadblocks such as unblocking seemingly harmless spot cards for maximal results. 
South	West 	North 	East


 1NT	   P 	3NT	All Pass








South	West	North	East


  1D	   P	 2C	   P


 3NT	All Pass





West	North	East	South


 1S	  3C*	  P	 3NT


All Pass


	     *Weak Jump Overcall





South	West	North	East


 2NT	   P	 3NT	All Pass








North	East	South	West


 1D	  P	 1NT	   P


3NT	All Pass



































